Additional Review for Chapter 10 Test. You may need a separate sheet of paper for space&i show your work.
1.) Solve for x and y. Put your answers in 51mpI|f|ed 3
radical form if necessar -
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3.) Put each of the following in simplified radical form.
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4.) Determine if the following sets of side lengths form an acute, obtuse, or right triangle. Justify your answers.

12, 16, 14 15, 7, 9 7
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5.) A 80 foot cable is attac
is the cable anchored. Draw a triangle to model the situation and solve.
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6.) Given the quadrilateral ABCD with A(-4, 1), B(-2, 4),
quadrilateral in simplest radical form.

Ty AV |
BC=\[--27+ (- =521 213 |

e roof of an 64 foot building and anchored to the ground.

nq +21 = 225
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oW far from the base of the building
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C(4, 0), and D(2, -3). Use the distance formula to find the perimeter of the
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